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2 MATHEMATICS (EC/NOVEMBER 2017)

INSTRUCTIONS AND INFORMATION

1. Give full marks for answers only, unless stated otherwise.

2. Accept any alternate correct solutions that are not included in the memorandum.

3. Underline errors committed by learners and apply Consistent Accuracy (CA).

4. THE FINAL MARK MUST BE CONVERTED TO 100.

KEYS
M Method
CA Consistent Accuracy
A Accuracy
S Statement
SF Substitution in Formula
R Reason
S/R Statement and Reason
Ques. Mark allocation Total
1.1 A v (1)
1.2 D v (Y
1.3 C v (1)
1.4 A v (1)
1.5 B v (1)
1.6 B v (1)
1.7 C v (1)
1.8 D v (1)
1.9 B v (1)
1.10 A v (1)
[10]
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(EC/NOVEMBER 2017)

MATHEMATICS

QUESTION 2 [30 marks]

Ques. | Solution Mark allocation Total
2.1 0,000 014 6 = 1,46x10° VA Answer : 1 (1)
221 | [o,06y*+0,1y* J0,06y*+0,1y*
_ 16
= Jo16y* vA _ /£y4 VA J0,16y* / /—y“ :1Mark
=0,4y*VA OR 100 100
2 VA Answer: 1 Mark (2)
5
A
2.2.2 he  x x* :1Mark
@y 1 X VA Answer : 1 Mark
(2)
2.2.3 (3x‘y™)? 9x’y % :1Mark
XZxxty? x°y? :1Mark
oty Answer: 1 Mark (3)
=y TYM
=9x"v'CA
2.2.4 3(x—3)(x+3)— (x—1)° x* —9:1Mark
vM vYM x® —2x+1:1Mark
=30 —9)— (2 —2x+1) 3x* —27—x*+2x—1:1Mark
2 .
—3x? 272 1 o1V A 2X° +2x—28:1Mark @)
=2x* +2x—28Y CA
225 31x—23x21x+41x 13—X—&jL%:lMark
4 3 6 2 4 9 2
vM 117x—208x +162x : 1IMark
_13_)(_% g_x 36:1Mark
49 2 o\ TIX. 1 Mark
_ 117x—208x +162x 36
36v'M
_"x veca
36 (4)
231 | 2x*+6x—36 2(x* +3x—-18) : IMark
=2(x*+3x-18) YA (x+6) :1Mark ;
vA YA (x—3) :1Mark (3)
— 2(x+6)(x—3)
2.3.2 9x(5a—b)+2(b—5a) 9x(5a—b)—2(5a—Db) : IMark
M (5a—b) :1Mark
=9x(5a—b)-2(5a—b) (9x—2) :1Mark
YA VA
=(5a—b)(9x-2) 3)

Copyright reserved

Please turn over




MATHEMATICS

(EC/NOVEMBER 2017)

24.1 (2x—3)(2x+3) =0 Answer: 1 mark

| X_?/A . X__§‘/A Answer: 1 mark

(2)
2.4.2 3X-2 x-2 x by LCM: 1Mark
7 3
M 9x —6 =7x—14:1Mark
3x—2 X—2

21( . jz Zl(TT Answer: 1 mark

S3(Bx—-2)=7(x-2)

IX—6=7x-14 VM (3)

S.2Xx=-8

~x=—4v'CA
243 | 213=1 3 = 1Mark

L3 =tvM 27

27 3* =32:1Mark
.3 =3 vM Answer: 1 mark
SoX=-3 v'CA
OR OR

27.3" =1 3** =3%:1Mark

333 =1 3+ x=0:1Mark

g 30V M Answer: 1 mark

~3+x=0vVM 3)

~x=-3v'CA

[30]
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(EC/NOVEMBER 2017)

MATHEMATICS

QUESTION 3 [22 Marks]

Ques. | Solution Mark allocation Total
3.1
311
Figure 2 3 4 12 & 16: 1Mark
Number of Triangles 8 12 16 (1)
p=12andgq = 16 YA
3.1.2 YA 4n :1Mark
T,=4n (1)
313 [120=4n YM SF 120 : 1Mark
n=30 VvV CA n=30:1Mark
~30% figure Y'A Answer : 1Mark (3)
3.2.1 y=2x-4 Lety=0 : 1 Mark
0=2x-4vM Answer : 1Mark
X=2 Y CA (2)
322 | y=—4/p —4:1Mark
€Y)
3.2.3 3.2.3
& 5 y=2x—4
3.3 \ |/ x—intercept :1Mark
y —intercept : IMark 3)
3 Straight Line : 1Mark
VA
2
1 r—=-4 3.3
X=4
! (4;§)A5 x—intercept:IMark  (2)
vertical / shape :1Mark
VA
34 Answer: 1Mark| (1)
3591 11 avM %A—1=—1:1Mark
A=0 Vv'CA Answer: IMark|  (2)
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6 MATHEMATICS

(EC/NOVEMBER 2017)

3.2 %(1)—1= B vA %(1)—1= B :1Mark
B 2 VCA Answer : 1Mark
3 (2)
Common difference = —3—(-5)=2 Explanation : 1 Mark
3.6.1 | y—_intercept=-3 Since x=0 vA Answer : 1 Mark
y=2x_3 A If ANSWER ONLY
Full Marks (2)
362 |21=2m-3 vM Substitution : 1Mark
m=12 /A Answer : 1Mark (2)
~ [22]
QUESTION 4 [12 marks]
Ques. | Solution Mark allocation Total
4.1 n Formula : 1 Mark
r
A= P(1+ ﬁj M Substitution : 1Mark
, R23413,44 :1Mark
A:15000£1+£j/8|: Answer : 1Mark
100
A-R2341344 Y CA
Compound Interest = R 8413, 44'/CA @
4.2 Let the age of the son =x x and 36— x:1Mark
.. Age of the father =36—x v"M x+7 and 43— x :1Mark
-.Sonin 7 years time = x+7 M A(x+7) =43-x:1Mark
.. Father in 7 years time = 43— X CA Answer:1Mark
L A(X+T7)=43-X Both ages:1Mark
S AX+28=43-X
~ox=15
SXx=3 v'CA
Son is 3 years old and the Father is 33 years old v'CA (4)
4.3 d=sxtVM Formula/M :1Mark
d =120km \// hx3h 360km : 1Mark
d d360 360km IMark
t=— 90km/h
S Answer : 1Mark
o 360km VM
90km/h
t=4h YCA (4)
[12]
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(EC/NOVEMBER 2017)

MATHEMATICS

QUESTION 5 [14]

Ques. | Solution Mark allocation
5.1
YA YR Answer: 1 Mark
5.1.1 | zADC = 65° (corresponding zs, CDI|IAB) Reason : 1 Mark
)
5.1.2 | EBC = 65° (Given :2ABE = 2EBC) Answer: 1 Mark
YA YR Reason: 1 Mark
£BCD = 65°(Alternates’s, EB|ICD) (2)
5.2
5.2.1 v'S YR Statement: 1 Mark
2x+35° +3x—10° =140° (Exterior £ of ARST) Reason: 1 Mark
Simplifying: 1 Mark
SX+25 =140° VA Answer: 1 Mark
X=23 v'CA OR
OR
ZRTS =40°(£'s on a straight line=180) Statement: 1 Mark
Vs YR Reason: 1 Mark
. . . Ao , oo Simplifying: 1 Mark
2x+35" +3x-10" +40° =180 (Sum of 3/'s of ARST=180 ) Answer: 1 Mark
5x+10° =140V’ A
x=23 v'CA 4)
522 | /QSR=2x+35 Substitution/Method:1
o o Mark
ZQSR=2(23)+35" ¥'M Answer: 1 Mark
ZQSR=81"v'CA @)
53
53.1 v A vR Answer 1 Mark
ZQPR =35 (Sum of 3.'s of APQR=180") Reason : 1 Mark
OR OR
VA YR Answer : 1 Mark
ZQPR =35" (Complementary./'s) Reason : 1 Mark | (2)
5.3.2 v A VR Answer : 1 Mark
ZPSO =38 (PO =08, radii) Reason : 1 Mark
OR
OR
‘/Ao B VR Answer 1 Mark
[14]
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MATHEMATICS

(EC/NOVEMBER 2017)

QUESTION 6 [11 marks]

Ques. | Solution Mark allocation Total
6.1 AD+ DC = AB + BE Statement and reason: 1 mark
AC = AE....ccoiiiieieieieee @ Statement and reason: 1 mark
Statement and reason: 1 mark
In AABCand AADE vS/R Statement and reason: 1 mark
1 AC=AE [Proved at (1)]
2 LA =rA [Given] Y'S/R
3 AB = AD [Common] v'S/R
~AABC= A ADE SAS v S/R (4)
6.2.1 MN 2 1 Statement : 1 mark
MK 4 2 V'S Statement : 1 mark
MK 4 1 Statement : 1 mark
ML 3 =3 v'S Statement/Reason : 1 mark
NK_5 1
KL 10 2 S v
. AMNK ||| AMKL[Corresponding sides are in proporti§|4fe (4)
6.2.2 | /KNM =65 (£'s on a straight |ine:180°)/S/R Statement/Reason: 1 mark
VA YR Answer : 1 mark
- MKL = 65" [AMNK ||| AMKL] Reason: 1 mark @)
[11]
QUESTION 7 [18 marks]
Ques. | Solution Mark allocation Total
7.1
7.1.1 | A=Areaof 2A's +Area of 3rectangles Substitution : 1Mark
1 v'SF Answer : 1Mark
A=2 (5 x8cm x 6cm) +15cmx10cm +15¢cm x 8cm+15¢cm x 6ecm
A= 48cm” +150cm” +120cm? +90cm’
A= 408cm? A @
7.1.2 | V = Area of basex height¥ M Formula : IMark
1 Substitution : 1Mark
V= E><8cm x6cmx15cmv SF Answer : 1Mark
v =360cm* ¥ CA @A)
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(EC/NOVEMBER 2017)

MATHEMATICS

1.2

7.2.1

AE? = AB? — BE*[Pythagoras]
AE? = (5cm)? — (4cm)? ¥ S

Substitution : 1Mark
Answer : 1Mark

AE? =9cm?
AE=3cm Y CA )
EC = 3cm [AE=EC=3cm] YR
1.2.2 OR Answer : 1 Mark
. . ¥R Reason : 1 Mark
EC = 3cm [AE = EC = 3cm; Diagonal BD of Kite bisects AC]
AC = 6cm VA @)
7.23 | BD = 4cm+10cm = 14cm Substitution : 1 Mark
] 1 v 42cm? : 1 Mark
Area of Kite ABCD = 5(14cm x6cm) v'M Answer © 1Mark
Area of Kite ABCD = %(AC x BD)
Area of Kite ABCD =42cm? v'CA
Area of Quadrilateral PQRD = (g x 42
Avrea of Quadrilateral PQRD = 63cm® 3)
7.3
731 | 2zr=44 v'M 27 =44 1Mark
44 44
r=_—- r=—:1Mark
2 vM 2
r=7cm v'CA Answer : 1Mark (3)
732 |V =ar’xh vM V = zr® xh:1Mark
A= z(7cm)? x44cm Y'M A= z(7cm)? x 44cm : IMark
A=677327cm®* v'CA Answer : 1Mark 3)
[18]
QUESTION 8 [10 marks]
Ques | Solution
8.1
8.1.1 YA VA x—5:1Mark
(xy)—=>(x-5y+2) y +2:1Mark 2
8.1.2 v A v A v A A" (6;2) : 1 Mark
A" (6;2) and B" (0;—6) and C" (8;—6) B"(0:-6) : 1 Mark
C"(8;—6) :1Mark 3)
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10 MATHEMATICS (EC/NOVEMBER 2017)
8.2 _
8.2.1 ’ P(-2;2) ; Q(-3;-1) and R(0;2)
and
ONE mark deducted for every
incorrect plotting. (2)
R"(2;,0)v' A
4 1 2 1 a 1 ]
% P/I( 2;-2) : 1 Mark
14
Q(-3;-1) Q//(-1:-3) :1 Mark
: P"(2;-2) R//(2;0) : 1 Mark
% / VA (20
|
34
Q"(-1;-3) v
@)
[10
QUESTION 9[13 marks]
9.1
9.11 Outcomes 3 outcomes: 1Mark
3 outcomes: 1Mark
Outcomes
Green Ruler [Blue Pencil;Green Ruler]
Blue Pencil<§ Green Ruler [Blue Pencil;Green Rulef]A
White Ruler [Blue Pencil;White Ruler]
Green Ruler [Red Pencil;Green Ruler
Red Pencil <E Green Ruler [Red Pencil;Green Rule| A
White Ruler [Red Pencil;White Ruler]
)
1.2 : A : 1 Mark
0 P(Red Pencil and Green Ruler) :gor%or0,330r33% v A nSwer ar 1)
9.1.3 | P(White Pencil and Red Ruler) =0 or impossible v A Answer : 1 Mark | (1)
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(EC/NOVEMBER 2017) MATHEMATICS 11
9.2
9.2.1 3 points plotted:1Mark
3 points plotted:1Mark
Test marks of learners 3 points lotted:1Mark
100
90
80 *
t 70 *o
£
g 60
g
3 50 *
= L 2
s 40 &
=]
5 30
20
10 YA YA VA
0
0 20 40 60 100
Maths mark
©)
(15;90) : 1 Mark
9.2.2 | (15;90) OR (90;40) OR
(90;40) : 1 Mark (1)
9.2.3 | There is a strong positive correlation. Y A Answer : 1 Mark
OR
Learners who perform well in Mathematics, generally perform well in OR
Natural Science and learners who perform poorly in Mathematics VA
generally perform poorly in Natural Science. Answer : 1 Mark (1)
9.3
9.3.1 97 _ x+30 27— x+30 1Mark
X = 24 ‘;A Answer : 1 Mark | (2)
9.3.2 300 CA from9.3.1
Mean = —
10 300 :IMark
Mean=30 Y CA 10 °
Answer : 1 Mark (2)
[13]
TOTAL: | 140
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